

## APPROXIMATING FIXED POINTS OF NONEXPANSIVE TYPE MAPPINGS

HEMANT K. PATHAK and MOHAMMAD S. KHAN

(Received 1 March 1999)

**ABSTRACT.** In a uniformly convex Banach space, the convergence of Ishikawa iterates to a unique fixed point is proved for nonexpansive type mappings under certain conditions.

2000 Mathematics Subject Classification. 47H10, 54H25.

**1. Introduction.** Let  $D$  be a nonempty, closed, and convex subset of a uniformly convex Banach space  $B$ , and  $T : D \rightarrow D$  with fixed point set  $F(T)$ . Recently, Ghosh and Debnath [1] introduced the generalized versions of the conditions of Senter and Dotson [6] as: the mapping  $T$  with  $F(t) \neq \emptyset$  is said to satisfy the following conditions.

**CONDITION 1.1.** If there exists a nondecreasing function  $f : [0, \infty) \rightarrow [0, \infty)$  with  $f(0) = 0$  and  $f(r) > 0$  for all  $r \in (0, \infty)$  such that

$$\|(1 - TT_\mu)x\| \geq f(d(x, F)) \quad \forall x \in D, \quad (1.1)$$

where  $T_\mu x = (1 - \mu)x + \mu Tx$  with  $0 \leq \mu \leq \beta < 1$  and  $d(x, F) = \inf_{z \in F} \|x - z\|$ .

**CONDITION 1.2.** If there exists a positive real number  $k$  such that

$$\|(1 - TT_\mu)x\| \geq k d(x, F(T)) \quad \forall x \in D. \quad (1.2)$$

When  $\mu = 0$ , both conditions reduce to those of Senter and Dotson [6]. It may be noted that the mapping which satisfies [Condition 1.2](#) also satisfies [Condition 1.1](#).

In this paper, we wish to use [Conditions 1.1](#) and [1.2](#) to prove the convergence of Ishikawa iterates [3] of certain nonexpansive type mappings.

**2. Ishikawa's iterative process.** Let  $D$  be a convex subset of a Banach space  $B$  and  $T : D \rightarrow D$ . For  $x_1 \in D$ , Ishikawa [3] defined a sequence  $\{x_n\}$  such that

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T[(1 - \beta_n)x_n + \beta_n Tx_n], \quad (2.1)$$

where  $\{\alpha_n\}_{n=1}^\infty$  and  $\{\beta_n\}_{n=1}^\infty$  are sequences of nonnegative numbers with  $0 \leq \alpha_n \leq \beta_n \leq 1$ ,  $\lim_{n \rightarrow \infty} \beta_n = 0$ , and  $\sum_{n=1}^\infty \alpha_n \beta_n = \infty$ .

Using notation for  $T_\mu x$  of [Section 1](#), (2.1) may be written as

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n TT_{\beta_n} x_n. \quad (2.2)$$

In this paper, we assume that  $\alpha_n$  and  $\beta_n$  satisfy

- (i)  $0 < a \leq \alpha_n < b < 1$ ,
- (ii)  $0 \leq \beta_n \leq \beta < 1$ .

We denote the sequence (2.1) by  $M(x_1, \alpha_n, \beta_n, T)$ , where  $\alpha_n$  and  $\beta_n$  satisfy (i) and (ii). We also assume that  $\alpha_n = \lambda$  and  $\beta_n = \mu$  for all  $n$  in the Ishikawa iterates defined above, that is,

$$x_{n+1} = T_{\lambda, \mu}^n x_1, T_{\lambda, \mu} = (1 - \lambda)I + \lambda T[(1 - \mu)I + \mu T]. \tag{2.3}$$

**3. Nonexpansive type mappings and convergence theorems.** Before we state and prove our main results we need to recall several definitions.

**DEFINITION 3.1.** A mapping  $T : D \rightarrow D$  is called nonexpansive if for all  $x, y \in D$ ,

$$\|Tx - Ty\| \leq \|x - y\|. \tag{3.1}$$

**DEFINITION 3.2.** A mapping  $T : D \rightarrow D$  is called generalized nonexpansive if it satisfies the condition, for all  $X, Y \in D$ ,

$$\|Tx - Ty\| \leq a\|x - y\| + b\{\|x - Tx\| + \|y - Ty\|\} + c\{\|x - Ty\| + \|y - Tx\|\}, \tag{3.2}$$

where  $a, c \geq 0$ ,  $b > 0$ , and  $a + 2b + 2c \leq 1$ . This type of mapping was introduced by Hardy and Rogers [2] in metric spaces.

**DEFINITION 3.3.** A mapping  $T : D \rightarrow D$  is said to satisfy [Condition 1.1](#) if for all  $x, y \in D$ ,

$$\|Tx - Ty\| \leq \max \left\{ \beta\|x - y\|, \frac{\|x - Tx\| + \|y - Ty\|}{2}, \frac{\|x - Ty\| + \|y - Tx\|}{2} \right\}, \tag{3.3}$$

and  $T$  is said to satisfy [Condition 1.2](#) if for all  $x, y \in D$ ,

$$\|Tx - Ty\| \leq \max \left\{ \beta\|x - y\|, \frac{\|x - Tx\| + \|y - Ty\|}{2}, \|x - Ty\|, \beta\|y - Tx\| \right\}, \tag{3.4}$$

where  $0 \leq \mu \leq \beta < 1$ .

**REMARK 3.4.** It is to be noted that

- (i) a nonexpansive mapping is generalized nonexpansive,
- (ii) generalized nonexpansive mappings and mappings satisfying [Condition 1.1](#) also satisfy [Condition 1.2](#), but the converse is not true as can be seen from the following example.

**EXAMPLE 3.5.** Let  $B = R$  with the usual norm and let  $D = D_1 \cup D_2$  where

$$\begin{aligned} D_1 &= \frac{m}{n}, \quad m = 0, 1, 3, 9, \dots; \quad n = 1, 4, \dots, 3k + 1, \\ D_2 &= \frac{m}{n}, \quad m = 1, 3, 9, 27, \dots; \quad n = 2, 5, \dots, 3k + 2. \end{aligned} \tag{3.5}$$

Define  $T : D \rightarrow D$  by

$$Tx = \begin{cases} \frac{3x}{4}, & x \in D_1, \\ \frac{x}{2}, & x \in D_2. \end{cases} \tag{3.6}$$

Then  $T$  satisfies [Condition 1.2](#), but it does not satisfy [Condition 1.1](#) and coincidentally that  $T$  is not a generalized nonexpansive mapping; for instance, take  $x = 1, y = 3/5$ . Then

$$\begin{aligned} \|Tx - Ty\| &= \frac{9}{20} \geq \max\left\{\frac{2}{5}\beta, \frac{11}{40}, \frac{17}{40}\right\} \\ &= \max\left\{\frac{2}{5}\beta, \frac{1}{2}\left[\frac{1}{4} + \frac{3}{10}\right], \frac{1}{2}\left[\frac{7}{10} + \frac{3}{20}\right]\right\} \\ &= \max\left\{\beta\|x - y\|, \frac{\|x - Tx\| + \|y - Ty\|}{2}, \frac{\|x - Ty\| + \|y - Tx\|}{2}\right\}. \end{aligned} \tag{3.7}$$

We now show that a mapping  $T$  satisfying [Condition 1.2](#) is a quasi-nonexpansive mapping. Suppose  $p$  is a fixed point of  $T$ . Then putting  $y = p$  in [\(3.4\)](#) and for  $Tx \neq p$ , we obtain

$$\begin{aligned} 0 < \|Tx - p\| &= \|Tx - Tp\| \\ &\leq \max\left\{\beta\|Tx - p\|, \frac{1}{2}\|x - Tx\|, \|x - p\|, \beta\|p - Tx\|\right\} \\ &\leq \max\left\{\beta\|Tx - p\|, \frac{1}{2}[\|x - p\| + \|p - Tx\|], \|x - p\|, \beta\|p - Tx\|\right\}. \end{aligned} \tag{3.8}$$

Since  $\|Tx - p\| \leq \beta\|p - Tx\|$  is not possible, we have

$$\|Tx - p\| \leq \max\left\{\frac{1}{2}[\|x - p\| + \|p - Tx\|], \|x - p\|\right\} \tag{3.9}$$

which implies that

$$\|Tx - p\| \leq \|x - p\|. \tag{3.10}$$

Therefore,  $T$  is quasi-nonexpansive. Next we show that

$$F(T) = F(T_{\lambda,\mu}) = F(TT_\mu). \tag{3.11}$$

Obviously  $F(T) \subset F(T_{\lambda,\mu})$ .

Let  $p \in F(T_{\lambda,\mu})$ . Then  $T_{\lambda,\mu}p = p$  implies that  $T_{\lambda,\mu}p = (1 - \lambda)Ip + \lambda T[(1 - \mu)Ip + \mu Tp] = (1 - \lambda)p + \lambda TT_\mu p$  and so  $TT_\mu p = p$ .

It follows from [\(3.4\)](#) that

$$\begin{aligned} \|Tp - p\| &= \|Tp - TT_\mu p\| \\ &\leq \max\left\{\beta\|p - T_\mu p\|, \frac{1}{2}[\|p - Tp\| + \|T_\mu p - p\|], 0, \beta\|T_\mu p - Tp\|\right\} \\ &= \max\left\{\beta\mu\|p - Tp\|, \frac{1}{2}(1 + \mu)\|p - Tp\|, 0, \beta(1 - \mu)\|p - Tp\|\right\}, \end{aligned} \tag{3.12}$$

whence we obtain  $Tp = p$ , since  $\max\{\beta\mu, (1/2)(1 + \mu), \beta(1 - \mu)\} < 1$ . Thus,  $F(T_{\lambda, \mu}) \subset F(T)$  leading to the result (3.11).

Now, we show that the mapping  $T$  satisfies Condition 1.2. We have from (3.4)

$$\begin{aligned}
 \|TT_{\mu}x - p\| &= \|TT_{\mu}x - Tp\| \\
 &\leq \max\left\{\beta\|T_{\mu}x - p\|, \frac{1}{2}\|T_{\mu}x - TT_{\mu}x\|, \|T_{\mu}x - p\|, \beta\|p - TT_{\mu}x\|\right\} \\
 &= \max\left\{\|T_{\mu}x - p\|, \frac{1}{2}\|T_{\mu}x - TT_{\mu}x\|, \beta\|p - TT_{\mu}x\|\right\} \\
 &\leq \max\left\{\|T_{\mu}x - p\|, \frac{1}{2}\|T_{\mu}x - TT_{\mu}x\|, \beta\|p - T_{\mu}x\|\right\} \\
 &= \max\left\{\|T_{\mu}x - p\|, \frac{1}{2}\|T_{\mu}x - TT_{\mu}x\|\right\} \\
 &\leq \max\left\{[(1 - \mu)\|x - p\| + \mu\|Tx - p\|], \frac{1}{2}[\|x - T_{\mu}x\| + \|x - TT_{\mu}x\|]\right\} \\
 &\leq \max\left\{[(1 - \mu)\|x - p\| + \mu\|x - p\|], \frac{1}{2}[\mu\|x - Tx\| + \|x - TT_{\mu}x\|]\right\} \\
 &\leq \max\left\{\|x - p\|, \frac{1}{2}[\mu(\|x - p\| + \|p - Tx\|) + \|x - TT_{\mu}x\|]\right\} \\
 &\leq \max\left\{\|x - p\|, \frac{1}{2}[2\mu\|x - p\| + \|x - TT_{\mu}x\|]\right\}.
 \end{aligned} \tag{3.13}$$

Also, we know that

$$\|TT_{\mu}x - p\| \geq \|x - p\| - \|x - TT_{\mu}x\|. \tag{3.14}$$

From (3.13) and (3.14), we deduce that

$$\max\left\{\|x - p\|, \frac{1}{2}[2\mu\|x - p\| + \|x - TT_{\mu}x\|]\right\} \geq \|x - p\| - \|x - TT_{\mu}x\| \tag{3.15}$$

which implies  $\|x - TT_{\mu}x\| \geq (2(1 - \mu)/3)\|x - p\|$ . Then we may write

$$\|x - TT_{\mu}x\| \geq k\|x - p\|, \tag{3.16}$$

where

$$0 < k = \frac{2(1 - \mu)}{3} < 1. \tag{3.17}$$

Thus  $T$  satisfies Condition 1.2 with  $0 < k < 1$ . Consequently, by Maiti and Ghosh [4, Theorem 1, page 114], we have the following.

**THEOREM 3.6.** *Let  $D$  be a closed convex Banach space  $B$ , and let  $T : D \rightarrow D$  be a mapping which satisfies (3.4) and has a fixed point in  $D$ . Then  $T$  satisfies Condition 1.2 and, for any  $x_1 \in D$ ,  $M(x_1, \alpha_n, \beta_n, T)$  converges to the fixed point of  $D$ .*

We next consider a mapping  $T$  which satisfies Condition 1.1, and a variant of Theorem 3.6 is stated below.

**THEOREM 3.7.** *Let  $D$  be a closed convex bounded subset of a uniformly convex Banach space  $B$ , and let  $T : D \rightarrow D$  be a mapping satisfying (3.3). Then  $T$  satisfies Condition 1.1, and for any  $x_1 \in D$ ,  $M(x_1, \alpha_n, \beta_n, T)$  converges to the unique fixed point of  $T$ .*

**PROOF.** The mapping  $T$  satisfying (3.3) also satisfies Naimpally and Singh [5, Condition II(D)], and so  $T$  has a unique fixed point. We now show that  $T$  is quasicontractive. Let  $p \in F(T)$ . Then, for any  $x \in D$ , we have from (3.3),

$$\begin{aligned} \|Tx - p\| &= \|Tx - Tp\| \leq \max \left\{ \beta \|x - p\|, \frac{1}{2} \|x - Tx\|, \frac{1}{2} [\|x - p\| + \|p - Tx\|] \right\} \\ &\leq \max \left\{ \beta \|x - p\|, \frac{1}{2} [\|x - p\| + \|p - Tx\|] \right\} \end{aligned} \quad (3.18)$$

implying

$$\|Tx - p\| \leq \|x - p\|. \quad (3.19)$$

Next, we show that  $T$  satisfies Condition 1.1.

Let  $p \in F(T)$ . Then we have from (3.1),

$$\begin{aligned} \|TT_\mu x - p\| &= \|TT_\mu x - T\| \\ &\leq \max \left\{ \beta \|T_\mu x - p\|, \frac{1}{2} \|T_\mu x - TT_\mu x\|, \frac{1}{2} [\|T_\mu x - p\| + \|p - TT_\mu x\|] \right\} \\ &\leq \max \left\{ \beta \|T_\mu x - p\|, \frac{1}{2} [\|T_\mu x - p\| + \|p - TT_\mu x\|] \right\} \\ &\leq \max \left\{ \beta \|T_\mu x - p\|, \|T_\mu x - p\| \right\} \\ &= \|T_\mu x - p\| = \|x - p\|. \end{aligned} \quad (3.20)$$

From (3.14) and (3.20), we derive

$$\|x - p\| \geq \|x - p\| - \|x - TT_\mu x\| \quad (3.21)$$

which implies that

$$\|x - TT_\mu x\| \geq 0 = f(0). \quad (3.22)$$

Thus  $T$  satisfies all conditions which ensure the convergence of  $M(x_1, \alpha_n, \beta_n, T)$ .  $\square$

## REFERENCES

- [1] M. K. Ghosh and L. Debnath, *Approximation of the fixed points of quasi-nonexpansive mappings in a uniformly convex Banach space*, Appl. Math. Lett. 5 (1992), no. 3, 47-50. MR 93b:47117. Zbl 760.47026.
- [2] G. E. Hardy and T. D. Rogers, *A generalization of a fixed point theorem of Reich*, Canad. Math. Bull. 16 (1973), 201-206. MR 48 #2847. Zbl 266.54015.
- [3] S. Ishikawa, *Fixed points by a new iteration method*, Proc. Amer. Math. Soc. 44 (1974), 147-150. MR 49 #1243. Zbl 286.47036.

- [4] M. Maiti and M. K. Ghosh, *Approximating fixed points by Ishikawa iterates*, Bull. Austral. Math. Soc. **40** (1989), no. 1, 113-117. [MR 90j:47076](#). [Zbl 667.47030](#).
- [5] S. A. Naimpally and K. L. Singh, *Extensions of some fixed point theorems of Rhoades*, J. Math. Anal. Appl. **96** (1983), no. 2, 437-446. [MR 85h:47069](#). [Zbl 524.47033](#).
- [6] H. F. Senter and W. G. Dotson, Jr., *Approximating fixed points of nonexpansive mappings*, Proc. Amer. Math. Soc. **44** (1974), 375-380. [MR 49 #11333](#). [Zbl 299.47032](#).

HEMANT K. PATHAK: DEPARTMENT OF MATHEMATICS, KALYAN MAHAVIDYALAYA, BHILAI NAGAR, CG 490006, INDIA

*E-mail address:* [sycomp@satyam.net.in](mailto:sycomp@satyam.net.in)

MOHAMMAD S. KHAN: DEPARTMENT OF MATHEMATICS AND STATISTICS, SULTAN QABOOS UNIVERSITY, P.O. BOX 36, P. CODE 123, AL-KHOD MUSCAT, OMAN

*E-mail address:* [mohammad@squ.edu.om](mailto:mohammad@squ.edu.om)



# Hindawi

Submit your manuscripts at  
<http://www.hindawi.com>

